

# EXTENDED TRAVELING WAVE SOLUTIONS FOR SOME NONLINEAR EQUATIONS

### SERIFE MUGE EGE

ABSTRACT. The extended Kudryashov method (EKM) is executed to find the traveling wave solutions for the Benjamin-Bona-Mahony (m,n) and Sharma-Tasso-Olver equations. The effciency of this method for finding exact solutions and traveling wave solutions has been demonstrated and compared with the solutions obtained by classical method. It has been shown that the proposed method is effective, direct and can be used for many other nonlinear evolution equations (NLEEs) in mathematical physics.

## 1. INTRODUCTION

The study of nonlinear evolution equations has an intense period over the last decades and has continued to attract attention in more recent years. These equations are mathematical models of various physical phenomena that arise in many fields such as engineering, applied mathematics, dynamics, electromagnetic theory, nonlinear physics and so on. Thus, it is very important to search for exact traveling wave solutions of nonlinear evolution equations. Furthermore, when an original nonlinear equation is directly solved, the solution will preserve the actual physical characters of the equations.

In the past several decades many useful methods and techniques have been developed for finding exact traveling wave solutions to nonlinear evolution equations such as G'/Gexpansion method [2, 14], sine-cosine method [3, 12], exp-fuction method [4, 15], subequation method [5], functional variable method [7], multiple exp-function method [8], trial equation method [9], modified simple equation method [17], extended tanh method [24] and others.

In this study, we present an extended method by inspring of modified Kudryashov method which was first introduced by Kudryashov [19] and other similar methods refining the initial idea [6, 10, 11, 18, 21]. The advantage of this method over the other classical methods is that gives more solutions with some parameters which effects both (either) speed and (or) amplitude of waves. By choosing convenient parameter, solutions can be turned into certain solutions obtained by existing methods. It originated from the well-known the homogeneous balance principle.

<sup>2010</sup> Mathematics Subject Classification. 35Q79; 35Q35; 35Q40.

Key words and phrases. Extended Kudryashov method, nonlinear evolution equations, Benjamin-Bona-Mahony equation, Sharma-Tasso-Olver equation.

The paper is organized as follows: In section 2, we give the algorithm of the method. In section 3, we apply the method to the Benjamin-Bona-Mahony (m,n) and Sharma-Tasso-Olver equations. At the end, conclusions are given.

#### 2. Algorithm of the method

The features of this method can be presented as follows. Let us consider the nonlinear evolution equation (NEE) in several independent variables as:

(2.1) 
$$P(u, u_t, u_x, u_y, u_z, u_{xy}, u_{yz}, u_{xz}, ....) = 0.$$

where the subscript denotes partial derivative, P is some function and u = u(t, x, y, z, ...) is called a dependent variable or unknown function to be determined. **Step 1.** We investigate the traveling wave solutions of equation (2.1) of the form:

$$u(x,y,z,\ldots,t)=u(\xi),\quad \xi=k(x+ct) \quad ext{or} \quad \xi=x-ct\,,$$

where k and c are arbitrary constants. Then equation (2.1) reduces to a nonlinear ordinary

differential equation of the form:

(2.2) 
$$G(u, u_{\xi}, u_{\xi\xi}, u_{\xi\xi\xi}, \ldots) = 0.$$

Step 2. We suppose that the solution of equation (2.2) has the following form:

(2.3) 
$$u(\xi) = \sum_{i=0}^{N} a_i Q^i(\xi)$$

where  $Q = \pm \frac{1}{\sqrt{1 \pm a^{2\xi}}}$  and the function Q is the solution of equation

$$Q_{\xi} = \ln a(Q^3 - Q) \,.$$

**Step 3.** In the view of the method, we presume that the solution of equation (2.2) can be pointed out in the form:

(2.4) 
$$u(\xi) = a_N Q^N + \cdots.$$

The positive integer N in formula (2.4) that is the pole order for the general solution of Eq. (2.2). In order to calculate the value of N we consider the homogenous balance between the highest order nonlinear terms in Eq. (2.2). Supposing  $u^l(\xi)u^s(\xi)$  and  $(u^l(\xi))^r$  are the highest order nonlinear terms of Eq. (2.2) and balancing the highest order nonlinear terms we have:

$$N = \frac{2(s-rp)}{r-l-1} \,.$$

**Step 4.** Substituting equation (2.3) into equation (2.2) and equating the coefficients of  $Q^i$  to zero, we obtain a system of algebraic equations. By solving this system with the aid of Mathematica, we get the traveling wave solutions of equation (2.2).

## 3. Applications

3.1. Benjamin Bona Mahony (m,n) Equation. We first apply the method to Benjamin Bona Mahony (m.n) equation in the form:

(3.1) 
$$(u^l)_t + \alpha (u^l)_x + k(u^m)_x - b(u^n)_{xxt} = 0.$$

where  $\alpha, k, b$  are constants and u is the function of (x, t).

This equation was first derived to characterize an approximation for surface long waves in nonlinear dispersive media. It can also describe the hydromagnetic waves in cold plasma, acoustic gravity waves in compressible fluids and acoustic waves in harmonic crystals [7, 13, 16, 20, 24].

By considering the traveling wave transformation:

$$u(x,t) = u(\xi), \quad \xi = s(x - \omega t),$$

where  $s, \omega \neq 0$  are constants, equation (3.1) can be reduced to the following ordinary differential equation:

(3.2) 
$$(\alpha - \omega)u^{l} + ku^{m} + bms^{2}(u^{n})'' = 0.$$

For l = n and  $m \neq n$ , we use the transformation  $u(\xi) = v^{\frac{1}{m-n}}(\xi)$ , which will convert equation (3.2) into

(3.3) 
$$(\alpha - \omega)(m - n)^2 v^2 + k(m - n)^2 v^3 + \omega b s^2 [n(2n - m)(v')^2 + n(m - n)vv''] = 0.$$

Also we take  $v(\xi) = \sum_{i=0}^{N} a_i Q^i$ , where  $Q(\xi) = \pm \frac{1}{(1 \pm a^{2\xi})^{1/2}}$ . We note that the function Q

is the solution of  $Q_{\xi} = \ln a(Q^3 - Q)$ . Balancing the linear term of the highest order with the highest order nonlinear term in equation (3.3), we compute N = 4. Thus, we have

(3.4) 
$$v(\xi) = a_0 + a_1 Q(\xi) + a_2 Q^2(\xi) + a_3 Q^3(\xi) + a_4 Q^4(\xi)$$

and substituting derivatives of  $v(\xi)$  with respect to  $\xi$  in equation (3.4) The required derivatives in equation (3.3) are obtained

(3.5) 
$$v_{\xi} = \ln a(Q^3 - Q)(a_1 + 2a_2Q + 3a_3Q^2 + 4a_4Q^3),$$
$$v_{\xi\xi} = \ln a(Q^3 - Q) \left[24a_4Q^5 + 15a_3Q^4 + (8a_2 - 16a_4)Q^3 + (3a_1 - 9a_3)Q^2 - 4a_2 - a_1\right]$$

Substituting equation (3.4) and equation (3.5) into equation (3.3) and collecting the coefficient of each power of  $Q^i$ , setting each of coefficient to zero, solving the resulting system of algebraic equations we obtain the following solutions: Case 1:

- ---- -

(3.6) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = a_2, \quad a_3 = 0, \quad a_4 = -a_2,$$
  
 $\alpha = \frac{[(m-n)^2 - 4sn^2s^2(\ln a)^2]\omega}{(m-n)^2}, \quad k = \frac{8bn(m+n)s^2\omega(\ln a)^2}{(n-m)^2a_2}.$ 

Inserting equation (3.6) into equation (3.4), we obtain the following solutions of equation (3.3):

$$v_1(\xi) = \frac{a_2}{5cFs^2\xi}$$
,  $v_2(\xi) = -\frac{a_2}{5sFs^2\xi}$ 

Thus, we obtain new exact solutions to equation (3.1):

$$u_1(x,t) = \left(\frac{a_2}{5cFs^2(s(x-\omega t))}\right)^{\frac{1}{m-n}}, \\ u_2(x,t) = \left(\frac{a_2}{5sFs^2(s(x-\omega t))}\right)^{\frac{1}{m-n}}.$$

Case 2:

(3.7) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = \frac{8bn\alpha s^2(m+n)(\ln a)^2}{k[(m-n)^2 - 4bn^2 s^2(\ln a)^2]}, \quad a_3 = 0,$$
  
 $a_4 = -\frac{8bn\alpha s^2(m+n)(\ln a)^2}{k[(m-n)^2 - 4bn^2 s^2(\ln a)^2]}, \quad \omega = \frac{(m-n)^2\alpha}{(m-n)^2 - 4bn^2 s^2(\ln a)^2}.$ 

Inserting equation (3.7) into equation (3.4), we get the following solutions of equation (3.3):

$$v_{3}(\xi) = \frac{8bn\alpha s^{2}(m+n)(\ln a)^{2}}{5k[(m-n)^{2}-4bn^{2}s^{2}(\ln a)^{2}]}\frac{1}{cFs^{2}\xi},$$
  

$$v_{4}(\xi) = -\frac{8bn\alpha s^{2}(m+n)(\ln a)^{2}}{5k[(m-n)^{2}-4bn^{2}s^{2}(\ln a)^{2}]}\frac{1}{cFs^{2}\xi}.$$

Traveling wave solutions to equation (3.1) are in the form:

$$u_{3}(x,t) = \left(\frac{8bn\alpha s^{2}(m+n)(\ln a)^{2}}{5k[(m-n)^{2}-4bn^{2}s^{2}(\ln a)^{2}]}\frac{1}{cFs^{2}\left(s\left(x-\left(\frac{(m-n)^{2}\alpha}{(m-n)^{2}-4bn^{2}s^{2}(\ln a)^{2}}\right)t\right)\right)^{\frac{1}{m-n}}}{u_{4}(x,t)} = \left(\frac{8bn\alpha s^{2}(m+n)(\ln a)^{2}}{5k[(m-n)^{2}-4bn^{2}s^{2}(\ln a)^{2}]}\frac{1}{sFs^{2}\left(s\left(x-\left(\frac{(m-n)^{2}\alpha}{(m-n)^{2}-4bn^{2}s^{2}(\ln a)^{2}}\right)t\right)\right)^{\frac{1}{m-n}}}\right)^{\frac{1}{m-n}}.$$

Case 3:

(3.8) 
$$a_0 = 0, a_1 = 0, a_2 = a_2, a_3 = 0, a_4 = -a_2,$$
  
 $\alpha = \frac{2\omega(m+n) - kna_2}{2(m+n)}, b = \frac{k(m-n)^2 a_2}{8n\omega s^2(m+n)(\ln a)^2}.$ 

Inserting equation (3.8) into equation (3.4), we obtain the following solutions of equation (3.3)

$$v_5(\xi) = \frac{a_2}{5cFs^2\xi}, \quad v_6(\xi) = -\frac{a_2}{5sFs^2\xi}.$$

We get the traveling wave solutions of equation (3.1):

$$u_{5}(x,t) = \left(\frac{a_{2}}{5cFs^{2}(s(x-\omega t))}\right)^{\frac{1}{m-n}},$$
  
$$u_{6}(x,t) = \left(\frac{a_{2}}{5sFs^{2}(s(x-\omega t))}\right)^{\frac{1}{m-n}}.$$

Case 4:

(3.9)

$$a_0 = 0, \quad a_1 = 0, \quad a_2 = a_2, \quad a_3 = 0, \quad a_4 = -a_2,$$
  
$$k = -\frac{2(m+n)(\alpha - \omega)}{na_2}, \quad b = -\frac{(m-n)^2(\alpha - \omega)}{4n^2s^2\omega(\ln a)^2}.$$

Inserting equation (3.9) into equation (3.4), we obtain the following solutions of equation (3.3):

$$v_7(\xi) = \frac{a_2}{5cFs^2\xi}, \quad v_8(\xi) = -\frac{a_2}{5sFs^2\xi}.$$

Hence we obtain new exact solutions to equation (3.1):

$$u_7(x,t) = \left(\frac{a_2}{5cFs^2(s(x-\omega t))}\right)^{\frac{1}{m-n}}, \quad u_8(x,t) = \left(-\frac{a_2}{5sFs^2(s(x-\omega t))}\right)^{\frac{1}{m-n}}$$

Case 5:

(3.10) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = \frac{8bn(m+n)s^2w(\ln a)^2}{k(n-m)^2}, \quad a_3 = 0,$$
  
 $a_4 = -\frac{8bn(m+n)s^2w(\ln a)^2}{k(n-m)^2}, \quad \alpha = \frac{w\left((m-n)^2 - 4bn^2s^2(\ln a)^2\right)}{(m-n)^2}$ 

Inserting equaion (3.10) into equation (3.4), we obtain the following solutions of equation (3.3):

$$v_9(\xi) = \frac{8bn(m+n)s^2w(\ln a)^2}{5k(n-m)^2} \frac{1}{cFs^2\xi}, \quad v_{10}(\xi) = -\frac{8bn(m+n)s^2w(\ln a)^2}{5k(n-m)^2} \frac{1}{sFs^2\xi}.$$

Thus, we obtain the solutions to equation (3.1)

$$u_{9}(x,t) = \left(\frac{8bn(m+n)s^{2}w(\ln a)^{2}}{5k(n-m)^{2}}\frac{1}{cFs^{2}(s(x-\omega t))}\right)^{\frac{1}{m-n}},$$
  
$$u_{10}(x,t) = \left(-\frac{8bn(m+n)s^{2}w(\ln a)^{2}}{5k(n-m)^{2}}\frac{1}{cFs^{2}(s(x-\omega t))}\right)^{\frac{1}{m-n}}.$$

Case 6:

(3.11) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = a_2, \quad a_3 = 0, \quad a_4 = -a_2$$
  

$$\omega = \frac{(m-n)^2 \alpha}{(m-n)^2 - 4bn^2 s^2 (\ln a)^2}, \quad k = -\frac{8bn(m+n)s^2 \alpha (\ln a)^2}{((m-n)^2 - 4bn^2 s^2 (\ln a)^2) a_2}$$

Inserting equation (3.11) into equation (3.4), we obtain the following solutions of equation (3.3):

$$v_{11}(\xi) = \frac{a_2}{5cFs^2\xi}, \quad v_{12}(\xi) = -\frac{a_2}{5sFs^2\xi}.$$

Hence we get the traveling wave solutions to equation (3.1)

$$u_{11}(x,t) = \left(\frac{a_2}{5cFs^2\left(s\left(x - \left(\frac{(m-n)^2\alpha}{(m-n)^2 - 4bn^2s^2(\ln a)^2}\right)t\right)\right)}\right)^{\frac{1}{m-n}}, \\ u_{12}(x,t) = \left(-\frac{a_2}{5sFs^2\left(s\left(x - \left(\frac{(m-n)^2\alpha}{(m-n)^2 - 4bn^2s^2(\ln a)^2}\right)t\right)\right)}\right)^{\frac{1}{m-n}}.$$

For  $l \neq n$  and m = n, we use the transformation

$$u(\xi) = v^{\frac{1}{l-n}}(\xi)$$

which will convert equation (3.2) into

(3.12) 
$$(\alpha - \omega)(l - n)^2 v^3 + k(l - n)^2 v^2 + \omega b s^2 [n(2n - l)(v')^2 + n(l - n)vv''] = 0.$$

.

Also we take

$$v(\xi) = \sum_{i=0}^{N} a_i Q^i \,,$$

where  $Q(\xi) = \pm \frac{1}{(1 \pm a^{2\xi})^{1/2}}$ . We note that the function Q is the solution of the equation  $Q_{\xi} = \ln a(Q^3 - Q)$ . Balancing the linear term of the highest order with the highest order nonlinear term in equation (3.12), we compute N = 4. Thus, we have

(3.13) 
$$v(\xi) = a_0 + a_1 Q(\xi) + a_2 Q^2(\xi) + a_3 Q^3(\xi) + a_4 Q^4(\xi) ,$$

and substituting derivatives of  $v(\xi)$  with respect to  $\xi$  in equation (3.13). The required derivatives in equation (3.12) are obtained

(3.14) 
$$v_{\xi} = \ln a(Q^3 - Q)(a_1 + 2a_2Q + 3a_3Q^2 + 4a_4Q^3),$$
$$v_{\xi\xi} = \ln a(Q^3 - Q) \left[24a_4Q^5 + 15a_3Q^4 + (8a_2 - 16a_4)Q^3 + (3a_1 - 9a_3)Q^2 - 4a_2 - a_1\right].$$

Substituting equation (3.13) and equation (3.14) into equation (3.12) and collecting the coefficient of each power of  $Q^i$ , setting each of coefficient to zero, solving the resulting system of algebraic equations we obtain the following solutions:

Case 1:

(3.15) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = -\frac{8bn(l+n)s^2\omega^2(\ln a)^2}{(n-l)^2(\omega-\alpha)}, \quad a_3 = 0,$$
  
 $a_4 = \frac{8bn(l+n)s^2\omega^2(\ln a)^2}{(n-l)^2(\omega-\alpha)}, \quad k - \frac{4bn^2s^2\omega(\ln a)^2}{(l-n)^2}.$ 

Inserting equation (3.15) into equation (3.13), we obtain the following solutions of equation (3.1):

$$u_1(x,t) = \left( -\frac{8bn(l+n)s^2\omega^2(\ln a)^2}{5(n-l)^2(\omega-\alpha)cFs^2(s(x-\omega t)))} \right)^{\frac{1}{l-n}},$$
  
$$u_2(x,t) = \left( \frac{8bn(l+n)s^2\omega^2(\ln a)^2}{5(n-l)^2(\omega-\alpha)cFs^2(s(x-\omega t)))} \right)^{\frac{1}{l-n}}.$$

Case 2:

(3.16) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = -\frac{2k(l+n)}{n(\alpha - \omega)}, \quad a_3 = 0,$$
  
 $a_4 = \frac{2k(l+n)}{n(\alpha - \omega)}, \quad s = -\frac{i\sqrt{k}}{2n\sqrt{b\omega}(\ln a)}$ 

Inserting equation (3.16) into equation (3.13), we get the following solutions of equation (3.1)

1

$$u_{3}(x,t) = \left(-\frac{2k(l+n)}{5n(\alpha-\omega)cFs^{2}\left(-\frac{i\sqrt{k}}{2n\sqrt{b\omega}(\ln a)}(x-\omega t)\right)}\right)^{\frac{1}{l-n}},$$
$$u_{4}(x,t) = \left(\frac{2k(l+n)}{5n(\alpha-\omega)sFs^{2}\left(-\frac{i\sqrt{k}}{2n\sqrt{b\omega}(\ln a)}(x-\omega t)\right)}\right)^{\frac{1}{l-n}}.$$

Case 3:

(3.17) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = -\frac{2k(l+n)}{n(\alpha - \omega)}, \quad a_3 = 0,$$
  
 $a_4 = \frac{2k(l+n)}{n(\alpha - \omega)}, \quad s = \frac{i\sqrt{k}}{2n\sqrt{b\omega}(\ln a)}.$ 

Inserting equation (3.17) into equation (3.13), we obtain the following solutions of equation (3.1):

$$\begin{aligned} u_3(x,t) &= \left( -\frac{2k(l+n)}{5n(\alpha-\omega)cFs^2\left(\frac{i\sqrt{k}}{2n\sqrt{b\omega}(\ln a)}(x-\omega t)\right)} \right)^{\frac{1}{l-n}}, \\ u_4(x,t) &= \left( \frac{2k(l+n)}{5n(\alpha-\omega)sFs^2\left(\frac{i\sqrt{k}}{2n\sqrt{b\omega}(\ln a)}(x-\omega t)\right)} \right)^{\frac{1}{l-n}}. \end{aligned}$$

Case 4:

(3.18) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = a_2, \quad a_3 = 0, \quad a_4 = -a_2,$$
  
 $s = \frac{i\sqrt{k(l-n)}}{2n\sqrt{b\omega}(\ln a)}, \quad \alpha = -\frac{2k(l+n+n\omega a_2)}{na_2}.$ 

Inserting equation (3.18) into equation (3.13), we get the following solutions of equation (3.1):

$$u_{7}(x,t) = \left(\frac{a_{2}}{5cFs^{2}\left(\frac{i\sqrt{k}(l-n)}{2n\sqrt{b\omega}(\ln a)}(x-\omega t)\right)}\right)^{\frac{1}{l-n}},$$
$$u_{8}(x,t) = \left(-\frac{a_{2}}{5sFs^{2}\left(\frac{i\sqrt{k}(l-n)}{2n\sqrt{b\omega}(\ln a)}(x-\omega t)\right)}\right)^{\frac{1}{l-n}}.$$

Case 5:

(3.19) 
$$a_0 = 0, \quad a_1 = 0, \quad a_2 = a_2, \quad a_3 = 0, \quad a_4 = -a_2,$$
  
 $\alpha = -\frac{\omega \left(8bn(l+n)s^2(\ln a)^2 + (l-n)^2a_2\right)}{(l-n)^2a_2}, \quad k = -\frac{4bn^2s^2\omega(\ln a)^2}{(n-l)^2}.$ 

Inserting equation (3.19) into equation (3.13), we obtain the following solutions of equation (3.1):

$$u_{9}(x,t) = \left(\frac{a_{2}}{5cFs^{2}(s(x-\omega t))}\right)^{\frac{1}{l-n}},$$
  
$$u_{10}(x,t) = \left(-\frac{a_{2}}{5sFs^{2}(s(x-\omega t))}\right)^{\frac{1}{l-n}}.$$

Case 6:

(3.20)

$$a_0 = 0, \quad a_1 = 0, \quad a_2 = a_2, \quad a_3 = 0, \quad a_4 = -a_2,$$
  
$$\alpha = \frac{-2k(l+n) + n\omega a_2}{na_2}, \quad b = -\frac{k(l-n)^2}{4n^2 s^2 \omega} (\ln a)^2.$$

Inserting equation (3.20) into equation (3.13), we get the following solutions of equation (3.1):

$$u_{11}(x,t) = \left(\frac{a_2}{5cFs^2(s(x-\omega t))}\right)^{\frac{1}{l-n}}, u_{12}(x,t) = \left(-\frac{a_2}{5sFs^2(s(x-\omega t))}\right)^{\frac{1}{l-n}}$$

3.2. Sharma-Tasso-Olver Equation. Next, we consider the following Sharma-Tasso-Olver equation:

(3.21) 
$$u_t + \alpha (u^3)_x + \frac{3}{2} \alpha (u^2)_{xx} + \alpha u_{xxx} = 0,$$

where  $\alpha$  is a real parameter and u(x,t) is the unknown function that depends on the temporal variable t and the spatial variable x. The STO equation contains both linear dispersive term  $\alpha u_{xxx}$  and the double nonlinear terms  $\alpha(u^3)_x$  and  $\frac{3}{2}\alpha(u^2)_{xx}$ . This equation is well known as a model equation describing the propagation of nonlinear dispersive waves in inhomogeneous media. The STO equation attracted great interest among mathematicians and physicists due to its appearance in scientific applications [1, 14, 22, 23].

By using the traveling wave transformation:

$$u(x,t) = u(\xi), \quad \xi = x - ct,$$

where  $c \neq 0$  is constant, equation (3.21) can be reduced to the following ordinary differential equation:

$$(3.22) \qquad \qquad -cu + \alpha u^3 + 3\alpha u u' + \alpha u'' = 0.$$

Also we take

$$u(\xi) = \sum_{i=0}^{N} a_i Q^i \,,$$

where  $Q(\xi) = \pm \frac{1}{(1 \pm e^{2\xi})^{1/2}}$ . Take in consideration that the function Q is the solution of  $Q' = Q^3 - Q$ . Balancing the the linear term of the highest order with the highest order nonlinear term in equation (3.22), we compute N = 2. Thus,

(3.23) 
$$u(\xi) = a_0 + a_1 Q(\xi) + a_2 Q^2(\xi),$$

and substituting derivatives of  $u(\xi)$  with respect to  $\xi$  in equation (3.23) we obtain

$$u'(\xi) = 2a_2Q^4(\xi) + a_1Q^3(\xi) - 2a_2Q^2(\xi) - a_1Q(\xi),$$
  

$$u''(\xi) = 8a_2Q^6(\xi) + 3a_1Q^5(\xi) - 12a_2Q^4(\xi) - 4a_1Q^3(\xi) + 4a_2Q^2(\xi) + a_1Q(\xi).$$

Substituting the derivatives into equation (3.22) and collecting the coefficient of each power of  $Q^i$ , setting each of coefficient to zero, solving the resulting system of algebraic equations we obtain the following solutions:

Case 1:

$$(3.24) a_0 = 2, a_1 = 0, a_2 = -4, c = 4\alpha$$

Inserting equation (3.24) into equation (3.23), we obtain the following solutions of equation (3.21):

$$u_1(x,t) = 2 \tanh(x - 4\alpha t),$$
  
 $u_2(x,t) = 2 \coth(x - 4\alpha t).$ 

Case 2:

$$(3.25) a_0 = 1, a_1 = 0, a_2 = -2, c = \alpha.$$

Inserting equation (3.25) into equation (3.23), we get the following solutions of equation (3.21):

$$u_3(x,t) = \tanh(x - \alpha t),$$
  
$$u_4(x,t) = \coth(x - \alpha t).$$

Case 3:

$$(3.26) a_0 = 2, a_1 = 0, a_2 = -2, c = 4\alpha.$$

Inserting equation (3.26) into equation (3.23), the following solutions of equation (3.21):

$$u_5(x,t) = 2\left(1 - \frac{1}{1 + \cosh(2x - 8\alpha t) + \sinh(2x - 8\alpha t)}\right),$$
  
$$u_6(x,t) = 2\left(1 - \frac{1}{1 - (\cosh(2x - 8\alpha t) + \sinh(2x - 8\alpha t))}\right),$$

are obtained.

Case 4:

$$(3.27) a_0 = 0, a_1 = 0, a_2 = -2, c = 4\alpha.$$

Inserting equation (3.27) into equation (3.23), we obtain the following solutions of equation (3.21):

$$u_7(x,t) = \tanh(x - 4\alpha t) - 1,$$
  
 $u_8(x,t) = \coth(x - 4\alpha t) - 1.$ 

## 4. Conclusion

In this work, extended Kudryashov method is proposed to construct exact solutions of evolution equations with constant coefficients. By using the proposed method we have successfully obtained analytical solutions of the BBM(m,n) equation and the Sharma Tasso Olver (STO) equation.Besides the Kudryashov method, more traveling wave solution cases are obtained. In addition, change in the parameters effects both the wave length and speed of the wave. The obtained solutions may have importance for some special physical phenomena. It can be concluded that this method is standard, effective and also allows to solve complicated algebraic calculation.

#### References

- B. S. AHMED, R. M. MORRIS, E. V. KRISHNAN, P. G. L. LEACH, A. BISWAS: Shock-Waves and other Solutions to the Sharma-Tasso-Olver Equation with Lie Point Symmetry and Travelling-Waves Approach, Appl. Math. Inf. Sci. 8 (2014), 2675-2681.
- [2] M. A. AKBAR, N. H. M. ALI, E. M. E. ZAYED: Abundant Exact Traveling Wave Solutions of Generalized Bretherton Equation via Improved (G/G) – Expansion Method, Commun. Theor. Phys. 57 (2012), 173–178.
- [3] S. ARBABI, N. NAJAFI, N. NAJAFI: New Periodic and Soliton Solutions of (2 + 1)-Dimensional Soliton Equation, J. Adv. Comp. Sci. Tech., 4 (2014), 232-239.
- [4] I. ASLAN, V. MARINAKIS: Some Remarks on Exp-Function Method and Its Applications, Commun. Theor. Phys. 56 (2011), 397-403.
- [5] A. BEKIR, E. AKSOY: Application of the Subequation Method to Some Differential Equations of Time-Fractional Order, J. Comput. Nonlinear Dyn. 10 (2015), 1-5.
- [6] H. BULUT, Y. PANDIR, H. M. BASKONUS: Symmetrical hyperbolic Fibonacci function solutions of generalized Fisher equation with fractional order, AIP Conf. Proc. 1558 (2013), 1914–1918.
- [7] A. CEVIKEL, A. BEKIR, M. AKAR, S. SAN: A procedure to construct exact solutions of nonlinear evolution equations, Pramana 79 (2012), 337–344.
- [8] M. T. DARVISHI, M. NAJAFI, S. ARBABI, L. KAVITHA: Exact propagating multi-anti-kink soliton solutions of a (3+1)-dimensional B-type Kadomtsev-Petviashvili equation, Nonlinear Dyn 83 (2016), 1453âĂŞ1462.
- S. T. DEMIRAY, H. BULUT: Some exact solutions of generalized Zakharov system, Wave Random Medias 1 (2015), 75-90.
- [10] S. M. EGE, E. MISIRLI: The modified Kudryashov method for solving some evolution equations, AIP Conf. Proc. 1470 (2012), 244-246.
- [11] S. M. EGE, E. MISIRLI: Traveling Wave Solutions of Some Fractional Differential Equations, Rom. J. Math. Comp. Sci. 6 (2016), 106-115.
- [12] O. GUNER: Soliton and periodic solutions for time-dependent coefficient non-linear equation, Wave Random Media **26**(2016), 90–99.
- [13] O. GUNER, A. BEKIR: Bright and dark soliton solutions for some nonlinear fractional differential equations, Chin. Phys. B 3 (2016), 1 9.
- [14] Y. HE, S. LI, Y. LONG: Exact Solutions to the Sharma-Tasso-Olver Equation by Using Improved G'/G-Expansion Method, J. Appl. Math. 2013 (2013), 1-6.
- [15] K. KHAN, M. A. AKBAR: Application of Exp(-phi(xi))-expansion Method to Find the Exact Solutions of Modified Benjamin-Bona-Mahony Equation, World App. Sci. J. 10 (2013), 1373-1377.
- [16] D. KAYA: Finding the Traveling Wave Solutions of Some Nonlinear Partial Differential Equations by an Expansion Method, Istanbul Ticaret Universitesi Fen Bilimleri Dergisi 29 (2016), 73-88.
- [17] K. KHAN, M. A. AKBAR: Exact and solitary wave solutions for the Tzitzeica-Dodd-Bullough and the modified KdV-Zakharov-Kuznetsov equations using the modified simple equation method, Ain Sham. Eng. J., 3 (2013), 903-909.
- [18] K. KHAN, M. A. AKBAR: Exact traveling wave solutions for system of nonlinear evolution equations, Springer Plus 5 (2016), 1-11.
- [19] N. A. KUDRYASHOV: One method for finding exact solutions of nonlinear differential equations, Commun. Nonl. Sci. Numer. Simul. 17 (2012), 2248-2253.
- [20] O. P. LAYENI, A. P. AKINOLA : A new hyperbolic auxiliary function method and exact solutions of the mBBM equation, Commun. Nonlinear. Sci. Numer. Simulat. 15 (2010), 135 - 138.
- [21] Y. A. TANDOGAN, Y. PANDIR, Y. GUREFE : Solutions of the Nonlinear Differential Equations by Use of Modified Kudryashov Method, Turk. J. Math. Comp. Sci. 1 (2013), 54-60.
- [22] A. M. WAZWAZ: New (3+1)-Dimensional Nonlinear Evolution Equations With Burgers and Sharma-Tasso-Olver Equations constituting the Main Parts, P. Romanian Acad. 16 (2015), 32– 40.
- [23] C. WANG: Dynamic behavior of traveling waves for the Sharma-Tasso-Olver equation, Nonlinear Dyn. 85 (2016), 119-126.
- [24] E. YUSUFOGLU, A. BEKIR: On the Extended Tanh Method Applications of Nonlinear Equations, Int. J. Nonlinear Sci. 4 (2007), 10-16.

Department of Mathematics Ege University Bornova, Izmir 35100 Turkey *E-mail address*: serife.muge.ege@ege.edu.tr